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Comprehension:

The following table shows the percentage (%) distribution of both the number of employees
and number of female employees working across six different cities (A-F), along with the
percentage of male and female employees who are graduates among them. In all the six
cities together. the total number of employees is 80000 and the ratio of male to female
emplovees is 9:7. Based on the data in the table, answer the questions that follow:

Citv-wise Details of Emplovees
e Percentage Distribution of Percentage of
" | Employees | Female Employees | Male Graduates | Female Graduates
A 24% 15% 26% 42%
B 15% 18% 33% 37%
C 20% 16% 41% 38%
D 6% 10% 36% 46%
E 9% 14% 47% 51%
F 26% 2% 48% 56%

SubQuestion No : 1

Q1 What is the difference between the total number of graduate male employees and the total
number of graduate female employees taking all the six cities together?
1. 701
2.702
3.703
4.704
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767495263
37674920501
37674920502
37674920503
37674920504
Answered

4
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Comprehension:

cities together, the total number of employees

The following table shows the percentage (%) distribution of both the number of employees
and number of female employees working across six different cities (A-F). along with the
percentage of male and female employees who are graduates among them. In all the six

is 80000 and the ratio of male to female

emplovees is 9:7. Based on the data in the table, answer the questions that follow:

Citv-wise Details of Employees

Hire Percentage Distribution of Percentage of
" | Employees | Female Employees | Male Graduates | Female Graduates
A 24% 15% 26% 42%
B 153% 18% 33% 37%
C 20% 16% 41% 38%
D 6% 10% 36% 46%
E 9% 14% 47% 51%
F 26% 2% 48% 56%

SubQuestion No : 2
Q.2

The number of male employees from city B is
from all the six cities together?

1.5.285

2.7.125

4.13.725

Options 1. 1
2.2
3.3
4.4

% of the total number of employees
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767495264
37674920505
37674920506
37674920507
37674920508
Answered

3
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Comprehension:

The following table shows the percentage (%) distribution of both the number of employees
and number of female employees working across six different cities (A-F). along with the
percentage of male and female employees who are graduates among them. In all the six
cities together. the total number of employees is 80000 and the ratio of male to female
emplovees is 9:7. Based on the data in the table, answer the questions that follow:

Citv-wise Details of Employees
Hire Percentage Distribution of Percentage of
" | Employees | Female Employees | Male Graduates | Female Graduates
A 24% 15% 26% 42%
B 153% 18% 33% 37%
C 20% 16% 41% 38%
D 6% 10% 36% 46%
E 9% 14% 47% 51%
F 26% 2% 48% 56%

SubQuestion No : 3

GET IT ON
Google Play

Q3 The number of graduate male employees from city D is approximately % of the
number of graduate male employees from city B.
1.23.2
2.24.88
3.27.28
4.32.52
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 11D
Option 2 ID
Option 31D :
Option 4 ID
Status
Chosen Option :

McQ

: 3767495266
1 37674920513
1 37674920514

37674920515

: 37674920516
: Answered

4
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Comprehension:

The following table shows the percentage (%) distribution of both the number of employees
and number of female employees working across six different cities (A-F). along with the
percentage of male and female employees who are graduates among them. In all the six
cities together. the total number of employees is 80000 and the ratio of male to female
emplovees is 9:7. Based on the data in the table, answer the questions that follow:

Citv-wise Details of Employees

Hire Percentage Distribution of Percentage of
" | Employees | Female Employees | Male Graduates | Female Graduates
A 24% 15% 26% 42%
B 153% 18% 33% 37%
C 20% 16% 41% 38%
D 6% 10% 36% 46%
E 9% 14% 47% 51%
F 26% 2% 48% 56%

SubQuestion No : 4

GET IT ON
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Q4 What is the ratio of the total number of graduate female employees of city A to the total
number of non-graduate female employees from city D?
156
2.8:7
3655
4.5:4
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status
Chosen Option :

McQ
3767495265
37674920509
37674920510
37674920511
37674920512

: Answered

3
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Comprehension:

Citv-wise Details of Employees
Hire Percentage Distribution of Percentage of
" | Employees | Female Employees | Male Graduates | Female Graduates
A 24% 15% 26% 42%
B 153% 18% 33% 37%
C 20% 16% 41% 38%
D 6% 10% 36% 46%
E 9% 14% 47% 51%
F 26% 2% 48% 56%

SubQuestion No : 5

Q.5
1.6
2.8
3.10
4. 14
Options 1. 1
2.2
3.3
4.4

The mumber of male employees from city C is approximately
number of female employees from city F.

The following table shows the percentage (%) distribution of both the number of employees
and number of female employees working across six different cities (A-F). along with the
percentage of male and female employees who are graduates among them. In all the six
cities together. the total number of employees is 80000 and the ratio of male to female
emplovees is 9:7. Based on the data in the table, answer the questions that follow:

% more than the

GET IT ON
Google Play

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :

: Answered

Chosen Option :

Status

McQ
3767495267
37674920517
37674920518
37674920519
37674920520

4
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Options 1. 1
2.2
3.3
4.4

1

[

Lo

Match the LIST-I with LIST-II

LIST-I LIST-TI
(Scholars) (Concept/Innovation/ Publication)
Original Version of
A.|Everett Rogers I. |dependency and under
development theory
B Paul Baran and Andre I The passing of
"| Gunder Frank " | Traditional society
, . Mass Media and
Esi Hamel bomer L National Development
D.|Wilbur Schramn IV. | Diffusion of Innovation

- A-I. B-IV, C-II, D-III

. A-IV. B-1, C-III, D-IT

. A-I B-II, C-III, D-IV

. A-IV. B-1, C-II, D-IIT

Choose the correct answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767495282
37674920577
37674920578
37674920579
37674920580
Answered

4
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Q.7 Which of the following illustrates how communication aids in learning and education?
A. Tt encourages critical thinking
B. It leads to memorisation without understanding
C. It allows exchange of diverse perspectives
D. It limits the spread of information
Choose the correct answer from the options given below:
1. A, Band C only
2. B and D only
3. Aand C only
4. C and D only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495281
Option 1 ID : 37674920573
Option 2 ID : 37674920574
Option 3 ID : 37674920575
Option 4 ID : 37674920576
Status : Answered
Chosen Option : 3
Sampling in which sampling units are selected on the advice of some experts or by the
intitution or opinion of the researcher himself is known as.
1. Judgment sampling
2. Snowball sampling
3. Quota sampling
4. Convenience sampling
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495276
Option 11D : 37674920553
Option 2 ID : 37674920554
Option 3 ID : 37674920555
Option 4 ID : 37674920556
Status : Answered
Chosen Option : 4
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Q Which of the following pollutants are most responsible for acid rain formation?
A. Carbon Monoxide (CO)
B. Nitrogen dioxide (NO;)
C. Ozone (O3)
D. Sulphur dioxide (SO»)
E. Lead (Pb)
Choose the correct answer from the options given below:
1. A and B only
2. B and D only
3. Cand E only
4. A, B and D only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495301
Option 11D : 37674920653
Option 2 ID : 37674920654
Option 3 ID : 37674920655
Option 4 ID : 37674920656
Status : Answered
Chosen Option : 2
Q.10 ; ; -
Identify the fallacy in the following :
“There are just three types of base hits in baseball ; a single, a double and a triple. Slugger
got a base hit but didn't get a single or a double. Therefore, Slugger must have gotten a
triple.”
1. Questionable Cause
2. Loaded Question
3. False Alternatives
4. Appeal to ignorance
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495288
Option 11D : 37674920601
Option 2 ID : 37674920602
Option 3 ID : 37674920603
Option 4 ID : 37674920604
Status : Answered
Chosen Option : 3
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an allows a user to share ideas, activities, events and interests, among the
people.
1. Adware
2. Social networking sites
3. Cookies
4. Open source software
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495279
Option 11D : 37674920565
Option 2 ID : 37674920566
Option 3 ID : 37674920567
Option 4 ID : 37674920568
Status : Answered
Chosen Option : 2
Q.12 In the context of definition. the class whose membership is divided into subclasses is called.
1. Species
2. Set
3. Group
4. Genus
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495290
Option 11D : 37674920609
Option 2 ID : 37674920610
Option 3 ID : 37674920611
Option 4 ID : 37674920612
Status : Answered
Chosen Option: 3
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Q.13 Arrange the following programming languages according to their generations in ascending

order:

A. Machine language

B. High level language

C. Assembly language

D. Very high level langnage

Choose the correct answer from the options given below:

GET IT ON
Google Play

1.1, B;A,C
2.B,D,C,A
3A.C.D.B
4.A,C,B,D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495295
Option 11D : 37674920629
Option 2 ID : 37674920630
Option 3 ID : 37674920631
Option 4 ID : 37674920632
Status : Answered
Chosen Option : 4
Q.1 : . 2 v
Which of the following is not an example of Application software?
1. Compiler
2. Spreadsheet
3. Word Processor
4. Computer- aided design
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495294
Option 1 ID : 37674920625
Option 2 ID : 37674920626
Option 3 ID : 37674920627
Option 4 ID : 37674920628
Status : Answered
Chosen Option : 2
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Q.15
Triangulation is a method of research adopted by
1. Qualitative Research
2. Quantitative Research
3. Applied Research
4. Fundamental Research
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495275
Option 11D : 37674920549
Option 2 ID : 37674920550
Option 3 ID : 37674920551
Option 4 ID : 37674920552
Status : Answered
Chosen Option : 1
Q.16 : : .
The largest source of Volatile Organic Compounds (VOCs) on earth is.
1. Animals
2. Plants
3. Industries
4. Transportation
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495299
Option 11D : 37674920645
Option 2 ID : 37674920646
Option 3 ID : 37674920647
Option 4 ID : 37674920648
Status : Answered
Chosen Option : 3
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Q.17 . e 3 . :
Who coined the term Artificial Intelligence in the year 1956?
1. John McCarthy
2. John McLuhan
3. Rhiengold
4. Curran., J
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495278
Option 11D : 37674920561
Option 2 ID : 37674920562
Option 3 ID : 37674920563
Option 4 ID : 37674920564
Status : Answered
Chosen Option : 1
Q.18 3
Choose the correct answer in the context of EAO in IIT*® figure.
1. Undistributed middle
2. Conclusion distributes its subject term
3. Commits the fallacy of exclusive premises
4. Commits the Existential fallacy
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495292
Option 11D : 37674920617
Option 2 D : 37674920618
Option 3 ID : 37674920619
Option 4 ID : 37674920620
Status : Answered
Chosen Option : 3
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Q.19 Choose the correct statements.
A. This year Government of India has spent six percent of GDP on Education
B. The Govt of Karnataka has established a different State Education Policy commission
under Sukhdeo Thorat.
C. The NEP 2020 was chaired by a missile scientist-K. Kasturirangan
D. The NEP 2020 was chaired by an eminent educationist-Krishna Kumar
E. The NEP 2020 promotes private-philanthropic participation in education
Choose the correct answer from the options given below:
1. A, B and D only
2.B. C and E only
3. Aand D only
4. Band C only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767495306
37674920673
37674920674
37674920675
37674920676
Answered

4
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Q.20
Match the LIST-I with LIST-II
LIST-I LIST-II
(Institutions/ Portal) (Domains)
Assessment and
2| NCIE = Accreditation
B.|NCERT II. | Online Education
C.|NAAC III. | Teacher Education
D.| SWAYAM IV. | School Text books
Choose the correct answer from the options given below:
1. A-I, B-II, C-III, D-IV
2. A-II. B-1, C-IV, D-III
3. A-IIL, B-IV, C-1. D-II
4. A-IV, B-111, C-II, D-1
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID
Status:
Chosen Option :

McQ
3767495307
37674920677

: 37674920678
: 37674920679
: 37674920680

Answered
3
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Q.21
Match the LIST-I with LIST-II
LIST-I LIST-II
(Soil type) (Region)
A.|Alluvial soil I. | Western ghat, Kerala
B.|Desert soil II. | Runn of Kutch, Gujarat
C.|Black soil 111 Iu.do—Gangetlc plane,
Bihar
; : Krishna Tungabhadra
1. (Latents sol o basin of Tamil Nadu
Choose the correct answer from the options given below:
1. A-III. B-I, C-IV. D-II
2. A-I. B-1I, C-III, D-IV
3. A-IIT, B-II, C-IV., D-I
4. A-I, B-11I, C-II, D-IV
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
3767495302
37674920657
37674920658
37674920659
37674920660
Answered

3
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Q.22
The Over-Head Projector is used for.
1. Still Pictures
2. Motion Pictures
3. Transparencies
4. PPT
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495269
Option 1 ID : 37674920525
Option 2 ID : 37674920526
Option 3 ID : 37674920527
Option 4 ID : 37674920528
Status : Answered
Chosen Option : 4
Q.23 In a certain coding scheme, ‘CLASS’ and ‘CABIN’ are coded as ‘“XOZHH’ and "XZYRM’,
respectively. In this scheme, what will be the code of “TABLE’?
1. GYZOV
2. FZYOV
3. HZYPV
4. GZYOV
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495283
Option 1 ID : 37674920581
Option 2 ID : 37674920582
Option 3 ID : 37674920583
Option 4 ID : 37674920584
Status : Answered
Chosen Option : 1



https://applink.adda247.com/d/XhqWf9lSap

Ad

dal24

7

Q.24

Options 1. 1
2.2
3.3
4.4

A. Mother India
B. Pather Panchali
C. Mughal E-Azam
D. New Delhi
E. Kala Pani

1.B.A.D.E.C
2.8B.D,AE, B
3. A, BC T E

4.B.D.A.E C

Identify the sequence of films released (earliest to latest).

Choose the correct answer from the options given below:

GET IT ON
Google Play

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767495280
37674920569
37674920570
37674920571
37674920572
Answered

2
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Q.25

Options 1. 1
2.2
3.3
4.4

Which of the following are not true for Learning?

A. Learning is a temporary change in behavior.

B. Learning is an enduring and permanent change in behavior.
C. Learning is a life long process.

D. Learning happens only until the age of 18 years.

E. Learning needs reconstruction of experiences.

Choose the correct answer from the options given below:

1. A.B. C and E only
2. A.D and E only
3. Aand D only

4.B,C.D and E only

Question Type :
: 3767495271
: 37674920533
: 37674920534
Option 31D :
: 37674920536
Status :
Chosen Option :

Question ID
Option 1 ID
Option 2 ID

Option 4 ID

McQ

37674920535

Answered
3



https://applink.adda247.com/d/XhqWf9lSap

Ad

dal2417

Q.26

According to the UGC guidelines on Plagiarism. upto what percentage of similarity of text
does not invite penalty?

1. 10 percent
2. 16 percent
3. 25 percent

4. 40 percent

GET IT ON
Google Play

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495268
Option 1 ID : 37674920521
Option 2 ID : 37674920522
Option 3 ID : 37674920523
Option 4 ID : 37674920524
Status : Answered
Chosen Option : 1
Q.27 ; ;  E - . uz 2 ;
Which among the following is incorrect in the light of Positivist Research Paradigm ?
1. Scientific Knowledge is derived from accumulation of data obtained theory-free and
value free from observation
2. Scientific method cannot be applied to humanities and social affairs
3. Anything that cannot be observed is of little importance
4. Science is the pursuit of foundational knowledge
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495274
Option 1 ID : 37674920545
Option 2 ID : 37674920546
Option 3 ID : 37674920547
Option 4 ID : 37674920548
Status : Answered
Chosen Option: 3
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Q.28 Arrange the following events related to hazardous materials in order of their occurrence
starting from oldest to the most recent.
A. BAMAKO Convention
B. Waigani Convention
C. Basel Convention
D. London Convention
E. Rotterdam Convention
Choose the correct answer from the options given below:
1. B, DiCA K
2.D,C,A;B,E
3.E.B.C.D. A
4.D,C.B,E.A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495300
Option 11D : 37674920649
Option 2 ID : 37674920650
Option 3 ID : 37674920651
Option 4 ID : 37674920652
Status : Answered
Chosen Option : 4
Q'29 - - - - -
Which of the following is not an optical storage device?
1.CD - ROM
2. DVD - ROM
3. RAM
4.CD-R
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495293
Option 11D : 37674920621
Option 2 ID : 37674920622
Option 3 ID : 37674920623
Option 4 ID : 37674920624
Status : Answered
Chosen Option : 4
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Q.30

Options 1. 1
2.2
3.3
4.4

Match the LIST-I with LIST-II

LIST-I
(Level of understanding)

LIST-II
(Process)

Autonomous Dependent

A. level I. |Peer learning
B.|Memory level II. | Effects and feelings
C.|Reflective level III. Recall 01.‘ atens
information
D.|Understanding level IV. | Seeing of relationship

1. A-I, B-III, C-IV, D-II

2. A-ILL B-III, C-1, D-IV

3. A-II, B-III, C-IV, D-I

4. A-IV, B-111, C-II, D-I

Choose the correct answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :
Chosen Option :

McQ
3767495272
37674920537
37674920538
37674920539
37674920540
Answered

3
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Q.31

Options 1. 1
2.2
3.3
4.4

Match the LIST-I with LIST-II

LIST-I
(Internet kevword)

LIST-II
(Function)

A FTR

Used to create hypertext
documents for use on
the web

.|Ping

II.

A message sent to check
if a sever is running

.|HTML

III.

A set of rules to
exchange documents on
the web

JHETTP

Program that enables

users to transfer files

from one computer to
another

1. A-I, B-III, C-II, D-IV
2. A-1, B-1II, C-1IV, D-II
3. A-IV, B-II, C-I, D-III

4. A-IL. B-1V, C-1. D-III

Choose the correct answer from the options given below:

GET IT ON
Google Play

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767495297
37674920637
37674920638
37674920639
37674920640
Answered

3
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.32 : . : :
Q Arrange the following according to Maslow's hierarchical structure of needs.
A. Esteem needs
B. Safety
C. Self actualization
D. Aesthetic
E. Physiological
Choose the correct answer from the options given below:
1.E.B.D,A,C
2.A,C,D,B,E
3.,E.B.A.D.C
4.E.D.B, A, C
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

McQ

: 3767495270

37674920529
37674920530
37674920531
37674920532
Answered

1



https://applink.adda247.com/d/XhqWf9lSap

Ad

dal2417

Q.33
Arrange chronologically the following :

A. Establishment of Delhi University

B. Establishment of University Grants Commission
C. Establishment of NCERT

D. Establishment of University of Allahabad

E. Establishment of IGNOU

Choose the correct answer from the options given below:

1.B.A.D.E.C
2. DC.EBA

3. A, B. D, E. €

GET IT ON
Google Play

4.D.A,B.C,E

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

McQ
3767495305
37674920669
37674920670
37674920671
37674920672
Answered

4
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Q.34 Arrange the following households (A, B, C and D) in terms of increasing percentage of

expenditure (E) to their income (I)

A.I=5.0Lakh, E=4.0 lakh
B. 1= 6.0 Lakh , E= 4.5 lakh
C.I=8.0 Lakh , E=5.0 lakh
D.I=4.8 Lakh, E=3.2 lakh

Choose the eorrect answer from the options given below:

GET IT ON
Google Play

1.D,A.B,C
2.D.B.C.A
3.C,D,B.A
4.D,A.C.B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495286
Option 11D : 37674920593
Option 2 ID : 37674920594
Option 3 ID : 37674920595
Option 4 ID : 37674920596
Status : Answered
Chosen Option : 3
Q.35 A man rows in still water at a certain speed V (km/hour). He takes as much time to cover 2
km distance upstream as he takes time to cover 3 km distance downstream. If the speed of
the stream is 2 (km/hour), what is the value of V7
1. 10 knv/hour
2. 8 km/hour
3. 6 km/ hour
4. 5 km/hour
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495285
Option 11D : 37674920589
Option 2 ID : 37674920590
Option 3 ID : 37674920591
Option 4 ID : 37674920592
Status : Answered
Chosen Option : 3
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Q.36 ; 5 : ;
Nalanda University in ancient India was a renowned center of ----------- .

1. Buddhist learning
2. Brahminical learning
3. Kshatriya learning

4. Jain learning

GET IT ON
Google Play

There are x trees and y parrots. If on each tree only one parrot is sitting, then one parrot
remains without a tree. If on each tree two parrots are sitting, then one tree remains without a
parrot. Therefore, x and y are, respectively.

Al
B.2
C.3
D. 4

Choose the correct answer from the options given below:

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495304
Option 11D : 37674920665
Option 2 ID : 37674920666
Option 31D : 37674920667
Option 4 ID : 37674920668
Status : Answered
Chosen Option : 1
Q.37

1. Aand B
2.Band C
3.Cand D
4. Aand C
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status:
Chosen Option :

McQ
3767495287
37674920597
37674920598
37674920599
37674920600
Answered

3
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.38 : 3
Q The Navoday Vidyalayas to school rural poor students were established on the

recommendations of ------------- ;

1. National Policy on Education-1986
2. PM-SHRI schools
3. National Education Policy 2020

4. Secondary Education Commission 1950

GET IT ON
Google Play

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

McQ
3767495303
37674920661
37674920662
37674920663
37674920664
Answered

1
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Q.39
Match the LIST-I with LIST-II
LIST-I LIST-II
(Square of opposition) (Result)
o ‘E’ and ‘T" are
A.|If ‘T is given as true L. _———
B.|If °T" is given as false II. s falsg, fLis
undetermined
C.|If O’ is given as true III. | “A’ is false, “E’ is true
D.|If ‘O’ is given as false  |IV.|‘E’ is false
Choose the correct answer from the options given below:
1. A-IIIL B-IV, C-I. D-II
2. A-ILL B-IIL, C-1, D-IV
3. A-T, B-IV, C-II, D-III
4. A-IV, B-1. C-III, D-II
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
3767495291
37674920613
37674920614
37674920615
37674920616
Answered

4



https://applink.adda247.com/d/XhqWf9lSap

Ad

dal2417

GET IT ON
Google Play

Q.40 What among the following applies to the ‘Ratio-scale’?
A Tt is a useful device in assessing quality and values
B. It has equal interval properties
C. It has a true zero
D. The numerals have the qualities of real numbers and can be added, subtracted etc.
E. It uses non-parametric statistical techniques
Choose the correct answer from the options given below:
1. A, CandD only
2.D and E only
3. A.Band C only
4. B, C and D only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767495273
37674920541
37674920542
37674920543
37674920544
Answered

4
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Q.41 :
Choose the correct statements in the context of DBMS.
A. DBMS is a software to create and manage databases.
B. Database schema is the design of the database.
C. Foreign key in a relation is used for unique identification of tables.
D. Primary key is used to relate two tables or relations.
E. SQL stands for Structured Query Language.
Choose the correct answer from the options given below:
1. A, B and C only
2. B, C and D only
3. A, Band E only
4. A, C and D only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495296
Option 11D : 37674920633
Option 2 ID : 37674920634
Option 3 ID : 37674920635
Option 4 ID : 37674920636
Status : Answered
Chosen Option : 3
Q.42 In the light of *Sannikarsa of Nyaya, a substance 'pot’ is perceived through the contact of the
particular sense with the substance is known as.
1. Samyoga
2. Samvaya
3. Samyukta-Samavaya
4. Samyukta- Samaveta- Samayaya
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495289
Option 11D : 37674920605
Option 2 ID : 37674920606
Option 3 ID : 37674920607
Option 4 D : 37674920608
Status : Answered
Chosen Option : 4
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Q.43

Options 1. 1
2.2
3.3
4.4

Which is the most abundant hydrocarbon in the atmosphere?

1. Methane

2. Benzene

3. Ethane

4. Paraffin

GET IT ON
Google Play

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status:
Chosen Option :

McQ
3767495298
37674920641
37674920642
37674920643
37674920644
Answered

1
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Q.44

Which among the following features applies to descriptive research?

A. Tt may involve the procedure of Induction and analysis
B. A study that describes and interprets what is/was the case
C. It can never be normative

D. It is used only in the quantitative research

E. Survey studies is one of its types

Choose the correct answer from the options given below:

1. B, C and D only
2.A.BandE only
3.C,Dand E only

4. B, D and A only

Options 1. 1

2.2
3.3
4.4

GET IT ON
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Question Type :
: 3767495277

: 37674920557
Option 21D :
Option 31D :
Option 41D :

Question ID
Option 11D

Status
Chosen Option

MCQ

37674920558
37674920559
37674920560

: Answered
12
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Q.45 ] ] . v
Find the next term in the number series gives below:

L. 7,25, 61,7

1. 81
2.110
3421

4. 141

Options 1. 1
2.2
3.3
4.4
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Question Type :
: 3767495284

: 37674920585
: 37674920586
: 37674920587
Option 41D :

Question ID
Option 1 ID
Option 2 ID
Option 31D

Status
Chosen Option

McQ

37674920588

: Answered
12
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Com

Q.46

1

A
v

Options 1. 1
2.2
3.3
4.4

prehension:

Read the passage carefully and answer the questions.

SubQuestion No : 46

. He is inspired by it

. He is indifferent to it

. He opposes it

. He corraborates it

No two other poets can be more dissimilar. Ezekiel from India's sophisticated Western
metropolis: Mahapatra is from an Eastern moffusil town. Ezekiel is a professor of English,
with a lirerary background; Mahapatra is a trained physicist. Ezekiel is a Bene-Israel Jew;
Mahapatra is a second-generation Christian. If Ezekiel pioneered post-independence Indian
English poetry. Mahapatra gave it a new direction. Ezekiel’s poetry is formally mindful;
Mahapatra’s poetry is written in free-flowing, sense-or idea-governed lines. The former
wrote realistic verse; the latter’s poetry is suffused with images and symbols. One can go on
in this vein. No wonder, we notice Mahapatra inveighing against something in Ezekiel’s
poetic credo in his prose pieces. Up to the eighties Ezekiel was considered the foremost
among Indian English poets but more recently he is being seen as highly inconsistent poet.

According to the passage, which of the following statements best describes Mahapatra's view
of Ezekiel's poetic approach?

GET IT ON
Google Play

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

: 37674920696

. Answered

Chosen Option :

Option 4 ID
Status

McQ
3767495312
37674920693
37674920694
37674920695

3
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Q.47

Options 1. 1
2.2
3.3
4.4

Comprehension:

Read the passage carefully and answer the questions.

SubQuestion No : 47

1. Mahapatra
2. R. Parthasarathy
3. Kamala Das

4, Ezekiel

No two other poets can be more dissimilar. Ezekiel from India's sophisticated Western
metropolis: Mahapatra is from an Eastern moffusil town. Ezekiel is a professor of English,
with a lirerary background; Mahapatra is a trained physicist. Ezekiel is a Bene-Israel Jew;
Mahapatra is a second-generation Christian. If Ezekiel pioneered post-independence Indian
English poetry. Mahapatra gave it a new direction. Ezekiel’s poetry is formally mindful;
Mahapatra’s poetry is written in free-flowing, sense-or idea-governed lines. The former
wrote realistic verse; the latter’s poetry is suffused with images and symbols. One can go on
in this vein. No wonder, we notice Mahapatra inveighing against something in Ezekiel’s
poetic credo in his prose pieces. Up to the eighties Ezekiel was considered the foremost
among Indian English poets but more recently he is being seen as highly inconsistent poet.

Which poet can be credited with pioneering post-independence Indian English poetry?

GET IT ON
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767495311
37674920689
37674920690
37674920691
37674920692
Answered

4
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Comprehension:
Read the passage carefully and answer the questions.

No two other poets can be more dissimilar. Ezekiel from India's sophisticated Western
metropolis; Mahapatra is from an Eastern moffusil town. Ezekiel is a professor of English,
with a lirerary background; Mahapatra is a trained physicist. Ezekiel is a Bene-Israel Jew;
Mahapatra is a second-generation Christian. If Ezekiel pioneered post-independence Indian
English poetry. Mahapatra gave it a new direction. Ezekiel’s poetry is formally mindful;
Mahapatra’s poetry is written in free-flowing, sense-or idea-governed lines. The former
wrote realistic verse: the latter’s poetry is suffused with images and symbols. One can go on
in this vein. No wonder, we notice Mahapatra inveighing against something in Ezekiel’s
poetic credo in his prose pieces. Up to the eighties Ezekiel was considered the foremost
among Indian English poets but more recently he is being seen as highly inconsistent poet.

SubQuestion No : 48

GET IT ON
Google Play

Q.48 i s ; . i i
Which of the following poet is from a metropolitan area in western India?
1. Mahapatra
2. Kamala Das
3. Ezekiel
4. R. Parthasarathy
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767495309
37674920681
37674920682
37674920683
37674920684
Answered

3
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Comprehension:

Read the passage carefully and answer the questions.

SubQuestion No : 49
Q.49

1. He became increasingly popular
2. He was seen as highly inconsistent
3. He was no longer read in literary circles

4. He was considered the most influential poet of his time

Options 1. 1
2.2
3.3
4.4

No two other poets can be more dissimilar. Ezekiel from India's sophisticated Western
metropolis; Mahapatra is from an Eastern moffusil town. Ezekiel is a professor of English,
with a lirerary background; Mahapatra is a trained physicist. Ezekiel is a Bene-Israel Jew;
Mahapatra is a second-generation Christian. If Ezekiel pioneered post-independence Indian
English poetry. Mahapatra gave it a new direction. Ezekiel’s poetry is formally mindful;
Mahapatra’s poetry is written in free-flowing, sense-or idea-governed lines. The former
wrote realistic verse: the latter’s poetry is suffused with images and symbols. One can go on
in this vein. No wonder, we notice Mahapatra inveighing against something in Ezekiel’s
poetic credo in his prose pieces. Up to the eighties Ezekiel was considered the foremost
among Indian English poets but more recently he is being seen as highly inconsistent poet.

How is Ezekiel's reputation described as changing after the 1980s?

GET IT ON
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Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
3767495313
37674920697
37674920698
37674920699
37674920700
Answered

2
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Comprehension:
Read the passage carefully and answer the questions.

No two other poets can be more dissimilar. Ezekiel from India's sophisticated Western
metropolis: Mahapatra is from an Eastern moffusil town. Ezekiel is a professor of English,
with a lirerary background; Mahapatra is a trained physicist. Ezekiel is a Bene-Israel Jew;
Mahapatra is a second-generation Christian. If Ezekiel pioneered post-independence Indian
English poetry. Mahapatra gave it a new direction. Ezekiel’s poetry is formally mindful;
Mahapatra’s poetry is written in free-flowing, sense-or idea-governed lines. The former
wrote realistic verse; the latter’s poetry is suffused with images and symbols. One can go on
in this vein. No wonder, we notice Mahapatra inveighing against something in Ezekiel’s
poetic credo in his prose pieces. Up to the eighties Ezekiel was considered the foremost
among Indian English poets but more recently he is being seen as highly inconsistent poet.

SubQuestion No : 50

GET IT ON
Google Play

Q.50 ; ’ ; g
How is Mahapatra's poetry style described in contrast to that of Ezekiel?
1. Formally structured and realistic
2. Free flowing and governed by sense or idea
3. Written with complex rhyme schemes
4. Lyrical and simple
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767495310
37674920685
37674920686
37674920687
37674920688
Answered

2



https://applink.adda247.com/d/XhqWf9lSap

Ad

dal2417

GET IT ON
Google Play

Q.51
Match the LIST-I with LIST-II
LIST-I LIST-II
Books Authors
A.|Mugaddimah I. |Pierre d'Ally
B.|Kosmos II. {Humboldt
C.| Almagest II1. | Ibn-Khaldun
D.|Imagine Mundi IV. | Ptolemy
Choose the correct answer from the options given below:
1. A-IIL.B-I.C-II.D-IV
2. A-IILB-IV.C-LD-II
3. A-IILB-II.C-IV.D-I
4. A-IVB-1.C-IL.D-III
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
3767495388
37674920997
37674920998
37674920999
37674921000
Answered

3
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Q.52 With regard to ocean salinity, consider the following statements and choose the correct one.

A. Average Chlorinity of the ocean is 19.2 %o.

B. The belt of highest salinity is found between 20° and 40° N and S latitudes.
C. The belt of highest salinity is found between 10° and 20° N and S latitudes.
D. Distribution of salinity on the map is shown by means of Isohalines.

Chose the correct answer from the options given below:

1.A.B & D Only
2.B.C &D Only
3.A,B & C Only

4.A.C &D Only

GET IT ON
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Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 1 ID
Option 2 ID
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767495326

: 37674920749
: 37674920750

37674920751
37674920752
Answered

1
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Q.53

Options 1. 1
2.2
3.3
4.4

Match the LIST-I with LIST-II

LIST-I

Types of transport (River)

LIST-II
Explanation

A | Saltation

The chemical load is
dissolved in the water

B.| Solution

II.

The heaviest material is
dragged or rolled along
the bed of the river

C.| Traction

III.

Leaves & twigs are
carried on the surface of
the river

D.|Flotation

Heavier particles are
bounced along the bed
of the river.

1. A-TIL.B-I,C-IV.D-II
2. A-LB-II.C-IIL.D-IV
3. A-IV.B-1.C-IL.D-III

4. A-II.B-1.C-IV.D-III

Choose the correct answer from the options given below:

GET IT ON
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767495325
37674920745
37674920746
37674920747
37674920748
Answered

3
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Q.54 Arrange the following States in ascending order according to their date of formation
A, JTharkhand
B. Mizoram
C. Chattishgarh
D. Goa
E. Uttarakhand
Choose the correct answer from the options given below:
L.B. D CEA
2.B,D,E,A,C
3.D.B.A.C,E
4.D,B,C.A E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495363
Option 1 ID : 37674920897
Option 2 ID : 37674920898
Option 31D : 37674920899
Option 4 ID : 37674920900
Status : Answered
Chosen Option: 3
Q.55 ) ;
Who is the author of the book India : A Sacred Geography ?
1. Diana L. Eck
2. David Franoley
3. Rana P.B Singh
4. B.J. Graham
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495360
Option 11D : 37674920885
Option 2 ID : 37674920886
Option 3 ID : 37674920887
Option 4 ID : 37674920888
Status : Answered
Chosen Option : 3
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Q.56

1. Isaac Newton
2. Laplace
3. G.H. Darwin

4. Marmer
Options 1. 1
2.2
3.3
4.4

The dynamic theory of tides has been given by

GET IT ON
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

12

Chosen Option

McQ
3767495336
37674920789
37674920790
37674920791
37674920792
Answered
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Q.57
Match the LIST-I with LIST-II
LIST-I LIST-II
Volcano Country
A.|Eyjallajokull I |USA
B.| Mt. St. Helena II. | Philippines
C.| Vesuvius III. | Iceland
D.| Mt. Pinatubo IV. | Ttaly
Choose the correct answer from the options given below:
1. A-III,.B-I,C-IV.D-II
2. A-LB-II,.C-III,.D-IV
3. A-IV.B-1.C-III.D-II
4. A-II.B-IV.C-I.D-III
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 1D :
Option2 D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

McQ
3767495320
37674920725
37674920726
37674920727
37674920728
Answered

1
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Q.58
Match the LIST-TI with LIST-II
LIST-I LIST-II
Theories Scientists
A.|Geosynclinal Orogen L. |Jetfreys
B.| Sliding Continent II. | Holmes
c. Thermal Convection 11| Daly
current
D.| Thermal Contraction IV. | Kober
Choose the correct answer from the options given below:
1. A-IV.B-1I1.C-11.D-1
2. A-TILB-IV.C-1,.D-II
3. A-ILLB-III.C-IV.D-I
4, A-I.B-II.C-III.D-IV
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID
Status
Chosen Option :

MCQ
3767495373
37674920937

: 37674920938
: 37674920939
: 37674920940
: Answered

1
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Q.59

population in ascending order.

A. Mizoram
B. Goa

C. Kerala

D. Tamil Nadu

Choose the correct answer from the options given below:
1.C.,D,B.A
2.A,C,D.A
3.0, DAB

4.D,C,B.A

Options 1. 1
2.2
3.3
4.4

As per 2011 census, arrange the following states on the basis of their percentage urban
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Question Type :
Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

McQ
3767495352
37674920853
37674920854
37674920855
37674920856
Answered

2
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.60 2 : . :
Q According to Heartland theory which among the following lines are correct ?
A, Who rules East Europe, commands the Heartland
B. Who rules West Europe, commands the Heartland
C. Who rules the Heartland, comumands the World Island
D. Who rules the World Island, commands the World
Choose the correct answer from the options given below:
.A.B & C Only
2.A,C &D Only
3.B,C & D Only
4.A,B &D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495344
Option 1 ID : 37674920821
Option 2 ID : 37674920822
Option 3 ID : 37674920823
Option 4 ID : 37674920824
Status : Answered
Chosen Option : 2
Q.61 : e ] . PR
What are the ideal conditions for location of shipbuilding Industry ?
1. Proximity to Iron & Steel Industry & Skilled Labours
2. Proximity to Grasslands
3. Proximity to Delta
4. Proximity to Markets
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495358
Option 11D : 37674920877
Option 2 ID : 37674920878
Option 3 ID : 37674920879
Option 4 ID : 37674920880
Status : Answered
Chosen Option: 3
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Q.62
A simple example of linear food chain is -
A. Grass
B. Snake
C. Insects
D. Hawk
E. Frogs
Choose the correct answer from the options given below:
LEIC BoA
2.A,C.E.B,D
3. AERB C. D
4 A C.B.E.D
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

MCQ
3767495356
37674920869
37674920870
37674920871
37674920872
Answered

2
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Q63 Arrange the following peaks of Himalaya as per their heights in descending order

A. Lhotse

B. Dhaula Giri
C. Annapurna

D. Makalu

E. Kanchenjunga

Choose the correct answer from the options given below:
LEDD,C. BA
2.E,B.A,C.D

3.E.A.D,B,C

GET IT ON
Google Play

4. E,A.B.D.C

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option

McQ
3767495396
37674921029
37674921030
37674921031
37674921032
Answered

o1
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Q.64

Which of the following are types of coffee ?

A. Liberica
B. Arabica
C. Robusta
D. Darjeeling
E. Oolong

1.C,D & E Only
2.B.C & D Only
3.A.B & C Only

4. A, C & E Only

Options 1. 1
2.2
3.3
4.4

Choose the correct answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 2 ID:
Option 31D :
Option 41D :

Status :
Chosen Option :

McQ
3767495362
37674920893
37674920894
37674920895
37674920896
Answered

3
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Q.65
Match the LIST-I with LIST-II
LIST-I LIST-II
Earthquake Hazards Year
A |Koyna I |1993
B.|Latur II. (2001
C.|Bhuj III.| 1967
D.|Darbhanga IV.| 1988
Choose the correct answer from the options given below:
1. A-I.B-II.C-IILLD-IV
2. A-TILB-I,C-IV.D-II
3. A-IIL.B-L.C-II.D-IV
4. A-IV.B-I1.C-1.D-III
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option2 D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

McQ
3767495366
37674920909
37674920910
37674920911
37674920912
Answered

3
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Q.66 . X : : :
Pastoral Nomadism can be identified with following features:
A. Tt is a subsistence activity depending on animals
B. Each nomadic community occupies a well-defined territory
C. The animals depend entirely on natural vegetation
D. Mining is an important activity
Choose the correct answer from the options given below:
1.B,C & D Oanly
2. A, C &DOaly
3.A.B &D Only
4. A,B & C Only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767495357
37674920873
37674920874
37674920875
37674920876
Answered

4
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Q.67 Arrange the following tribal groups of India in decreasing order according to their size of

population.

A The Santhals
B. The Mundas
C. The Gonds
D. The Bhils

Choose the correct answer from the options given below:

GET IT ON
Google Play

1.D,C_A&B
2.C,D,A&B
3.0, B: DA
4.D,C.B,A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495328
Option 1 ID : 37674920757
Option 2 ID : 37674920758
Option 3 ID : 37674920759
Option 4 ID : 37674920760
Status : Answered
Chosen Option : 2
Q.6 i : : : .
Critical Isodapane are lines of equal transport cost per unit of production are given by
1. Zipt
2. Losch
3. Hoover
4. Weber
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495340
Option 11D : 37674920805
Option 2 ID : 37674920806
Option 3 ID : 37674920807
Option 4 ID : 37674920808
Status : Answered
Chosen Option : 4
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Q.69 . : ; : g
What is the name given to tropical cyclones in Philippines
1. Typhoons
2. Willy Willy
3. Taifu
4. Baguio
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
3767495315
37674920705
37674920706
37674920707
37674920708
Answered

4
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Q.70

Options 1. 1
2.2
3.3
4.4

Who among the following are the Greek geographers?

A. Herodotus
B. Ratzel

C. Hecataeus
D. Hettner

E. Thales

Choose the correct answer from the options given below:

1.B,C & E Only
2.A,C &D Ounly
3. A, C & E Only

4.B.D & E Only

GET IT ON
Google Play

Question Type :
Question ID :
Option 11D :
Option 2 ID:
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767495333
37674920777
37674920778
37674920779
37674920780
Answered

3
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Q.71 Which of the following census year of India recorded the increase in sex ratio from the
previous census year 7
A. 2001
B. 1951
C. 1981
D. 1961
E. 1971
Chose the correct answer from the options given below:
l.A.B & C Only
2. A.B & D Oaly
3.A.B & E Only
4.B.C & D Oaly
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID
Status
Chosen Option :

McQ
3767495318
37674920717

: 37674920718
: 37674920719
: 37674920720
: Answered

1
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Q.72 Arrange the following states in ascending order in terms of literacy rate in India as per

census 2011.

A. Maharashtra

B. Madhya Pradesh
C. Uttarakhand

D. Kerala

Choose the correct answer from the options given below:

GET IT ON
Google Play

1A BC T
2.D,A,B.C
3.B,C.A,D
4.D.C,B.A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495370
Option 11D : 37674920925
Option 2 ID : 37674920926
Option 3 ID : 37674920927
Option 4 ID : 37674920928
Status : Answered
Chosen Option: 3
Q73 : 1 - ) i
Which of the following model is NOT related to Migration?
1. Micro - Analytical Model
2. Intervening Opportunities Model
3. Gravity Model
4. Integrating Migrants Model
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495364
Option 1 ID : 37674920901
Option 2 ID : 37674920902
Option 3 ID : 37674920903
Option 4 ID : 37674920904
Status : Answered
Chosen Option : 1
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Q.74
by Malthus

1. A.B &D Only

[5e]

.B.D & E Only
3.C.,D & E Only

4. A, C & E Only
Options 1. 1
2.2
3.3
4.4

Choose the correct answer from the options given below:

Which of the following statements are NOT correct about the theory of population growth

A. The theory is based on the role of changing technology and biological limitations that a
population cannot grow beyond a certain limit

B. Malthus observed negative correlation between tension in life and number of children

C. Malthus based his theory of population on experience of east European countries

D. Malthus positive checks include wars, diseases, droughts, poverty etc.

E. The unchecked population increases at arithmetic rate while subsistence (food)
increases at geometric rate

GET IT ON
Google Play

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: Answered

Chosen Option :

Status

McQ
3767495341
37674920809
37674920810
37674920811
37674920812

4
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Q.75
Match the LIST-I with LIST-II
LIST-I p LIS1;£;
Theories PR DR,
A.| Turbidity Current I. | W.M. Davis
B. S}] bmarine Density 1. |Tassen
Current
C.| Subaerial Erosion III. | Holimann
D.|Diastrophic IV.|]1.D. Dana
Choose the correct answer from the options given below:
1. A-I.B-III.C-IV.D-II
2. A-ITII.B-II.C-1.D-IV
3. A-IL.B-IV.C-TL,.D-I
4, A-IV.B-11.C-1,D-III
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
3767495386
37674920989
37674920990
37674920991
37674920992
Answered

4
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Q.76 Annual layers of silt & clay deposited on the bottoms of lakes and ponds that are subject to
freezing in winter & thawing in summers are-
1. Scree
2. Varves
3. Talus
4. Coal
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495330
Option 1 ID : 37674920765
Option 2 ID : 37674920766
Option 31D : 37674920767
Option 4 ID : 37674920768
Status : Answered
Chosen Option : 2
Q.77 3 :
Who introduced the term ‘Peneplain’ ?
1. G.K. Gilbert
2. J.W. Powell
3. W.M. Davis
4. C.E. Dirtton
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495314
Option 11D : 37674920701
Option 2 ID : 37674920702
Option 3 ID : 37674920703
Option 4 ID : 37674920704
Status : Answered
Chosen Option : 3
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Q.78
Match the LIST-T with LIST-II
LIST-I LIST-II
River Source
A.|Ravi I. |Bara Lacha pass
B.| Satluj II. | Near Manasarovar lake
C.|Chenab II1. | Near Rohtang Pass
D. | ndus v Manasarovar - Rakas
lakes
Choose the correct answer from the options given below:
1. A-TV.B-III.C-1.D-II
2. A-ILB-IV.C-IL.D-III
3. A-TV.B-IIL.C-I1I.D-I
4. A-IILB-IV.C-I.D-II
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID
Status
Chosen Option :

McQ
3767495400
37674921045

: 37674921046
: 37674921047
: 37674921048
: Answered

4
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Q.79

Options 1. 1
2.2
3.3
4.4

Which of the following is NOT a geosynchronous satellite?

A. METEOSAT
B. GOMS
C. Landsat
D. INSAT

Choose the correct answer from the options given below:

GET IT ON
Google Play

1. A & C Only
2. B & C Only
3. C Only
4. D Only
Question Type :
Question ID
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID
Status
Chosen Option :

MCcQ

: 3767495379

37674920961

: 37674920962
1 37674920963
: 37674920964
: Answered

3
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Q.80 : . ; : i ;
Arrange the following rivers in ascending order on the basis of their length
A. Beas
B. Kosi
C. Godavari
D. Damodar
E. Chambal
Choose the correct answer from the options given below:
I.D,A,E,B,C
2.8 BLB.EE
3:D,B,AE.C
4.A.B,D.C,E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495378
Option 1 ID : 37674920957
Option 2 ID : 37674920958
Option 3 ID : 37674920959
Option 4 ID : 37674920960
Status : Answered
Chosen Option : 3
Q.81 : 3 =
With regard to energy flow in ecosystems according to the “second law of
Thermodynamics™, what percentage of energy is lost at every trophic level ?
1.90 %
2.85%
3.80%
4.75 %
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495324
Option 1 ID : 37674920741
Option 2 ID : 37674920742
Option 31D : 37674920743
Option 4 ID : 37674920744
Status : Answered
Chosen Option : 1
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Q.82

1. Waterspots
2. Huge magnetic storms
3. Mountains

4. Places with adequate sunshine

What are the dark spots (sunspots) that appear on sun surface?

GET IT ON
Google Play

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495338
Option 11D : 37674920797
Option 2 ID : 37674920798
Option 3 ID : 37674920799
Option 4 ID : 37674920800
Status : Answered
Chosen Option : 2
Q.83 : B3 F
Which one of the following is not an approach in Human Geography ?
1. Spatial Organization
2. Areal Differentiation
3. Quantitative Revolution
4. Exploration and Description
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495367
Option 11D : 37674920913
Option 2 ID : 37674920914
Option 3 ID : 37674920915
Option 4 ID : 37674920916
Status : Answered
Chosen Option : 3
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Q.84
The albedo for the earth as a whole is-
1. 20 per cent
2. 25 per cent
3. 30 per cent
4. 35 per cent
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495316
Option 11D : 37674920709
Option 2 ID : 37674920710
Option 3 ID : 37674920711
Option 4 ID : 37674920712
Status : Answered
Chosen Option : 4
Q.85 ‘Which of the following frame was recognised by Andreson in 1970 while classifyving the
world's agriculture system
A Ecological
B. Industrial
C. Subsistence
D. Commercial
Chose the correct answer from the options given below:
1. A,B & C Only
2.A.C & D Only
3.A.B & D Only
4. B,C & D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495319
Option 1 ID : 37674920721
Option 2 ID : 37674920722
Option 3 ID : 37674920723
Option 4 ID : 37674920724
Status : Answered
Chosen Option : 2
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GET IT ON
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.86 : : T .
Q Consider the correct statements regarding possibilities of meander change over time.
A. Meanders may migrate upstream and erode river cliffs
B. They may migrate laterally and erode the flood plain
C. They may become exaggerated and become ox-bow lake
D. Under special conditions they may become intrenched or ingrow
Choose the correct answer from the options given below:
1.B,C & D Only
2. A.B & C Only
3.A.B & D Only
4. A, C&D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495397
Option 11D : 37674921033
Option 2 ID : 37674921034
Option 31D : 37674921035
Option 4 ID : 37674921036
Status : Answered
Chosen Option : 1
Q.87 : ; : =
Which of the following statements are true with respect to fertility.
A. Societies characterised by a low age at marriage exhibit low fertility rate.
B. Both polygamy and polyandry have a negative effect upon fertility.
C. There is a positive correlation between birth rate and the status granted to the females.
D. There is an inverse correlation between the level of education and the fertility index.
Choose the correct answer from the options given below:
l. A& B Only
2.B & C Only
3.B & D Ouly
4. A & D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495369
Option 1 ID : 37674920921
Option 2 ID : 37674920922
Option 3 1D : 37674920923
Option 4 ID : 37674920924
Status : Answered
Chosen Option: 3
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GET IT ON
Google Play

Q.88 . ; s : nm
What is the value of k in Administrative Principle in central place theory ?
Ld=5
2.k=3
3. k=4
4.k=7
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

McQ
3767495347
37674920833
37674920834
37674920835
37674920836
Answered

4
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Q.89
Which of the following is/are cold winds ?

A. Mistral

B. Buran

C. Zonda

D. Bora

E. Santa Ana

1. A, B & C Only
2.A,C &D Ounly
3.A.D & E Only

4.A.B & D Only

Options 1. 1
2.2
3.3
4.4

Choose the correct answer from the options given below:

GET IT ON
Google Play

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
3767495387
37674920993
37674920994
37674920995
37674920996
Answered

3
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Q.90
The term 'Ecosystem’' was first used by-
1. Lindeman
2. E.P. Odum
3. F.R. Fosberg
4. A.G. Tansley
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495345
Option 1 ID : 37674920825
Option 2 ID : 37674920826
Option 3 ID : 37674920827
Option 4 ID : 37674920828
Status : Answered
Chosen Option : 4
Q.9 Arrange the following bands of electromagnetic spectrum in ascending order of their wave
length
A, X -rays
B. Near Infrared rays
C. Microwaves
D. Visible Rays
E. Radio waves
Choose the correct answer from the options given below:
1.B,C,AE,D
2.A,B.C.E,D
3.A.B.D.C.E
4. A.D.B.C.E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495383
Option 11D : 37674920977
Option 2 ID : 37674920978
Option 3 ID : 37674920979
Option 4 ID : 37674920980
Status : Answered
Chosen Option : 4
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Q.92 Arrange the following global navigation satellite systems in chronological order of their

launch. (from first to last)

A. Galilio

B. GLONASS
C. BeiDOU
D. GPS

Choose the correct answer from the options given below:

GET IT ON
Google Play

1.B,D;:A,C
2.D,B,A.C
3.D.B.C.A
4.B.D.CA
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767495374
37674920941
37674920942
37674920943
37674920944
Answered

3
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Q.93
Match the LIST-TI with LIST-II
LIST-I LIST-II
Folds Limbs
A | symmetrical I Unequal and Irregular
- limbs
B.| Asymmetrical II. Bo.ﬂl B mohing
uniformly
C.|Monoclinal III. Hath Eimibs becmae
parallel
D tsoclinal v (.)ne Limb inclines at
right angle
Choose the correct answer from the options given below:
1. A-IIL.B-1.C-II.D-IV
2. A-IVB-II.C-III.D-I
3. A-ILLB-1.C-IV.D-III
4. A-1.B-II.C-III.D-IV
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

McQ
3767495381
37674920969
37674920970
37674920971
37674920972
Answered

3
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Q.94 If you have to travel from the northern most to the southern most points in the mainland of
India, you would cover a distance of about -
1.4.200 Km
2. 3,200 Km
3.3.000 Km
4.3.800 Km
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID
Status :
Chosen Option :

McQ

: 3767495394

: 37674921021
1 37674921022
137674921023
137674921024

Answered
2
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Q.95
Match the LIST-TI with LIST-II
LIST-I LIST-II
Drainage Pattern Rivers
A.|Dendritic I. |Chambal
B.|Radial II. [ Narmada
C.|Centripetal II1. | Subarnarekha
D.|Pinnate IV. | Mahanadi
Choose the correct answer from the options given below:
1. A-I.B-1I.C-1II.D-IV
2. A-IVB-II.C-III.D-I
3. A-IILB-I,C-IV.D-II
4. A-IV.B-1II.C-1.D-II
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option2 D :
Option 31D :
Option 4 1D :
Status:
Chosen Option :

McQ
3767495361
37674920889
37674920890
37674920891
37674920892
Answered

4
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Q.96
Where the Monterey submarine canyon is located ?
1. off Aleutian islands
2. off Californian coast
3. off Spanish coast
4. off African coast
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495331
Option 1 ID : 37674920769
Option 2 ID : 37674920770
Option 3 ID : 37674920771
Option 4 ID : 37674920772
Status : Answered
Chosen Option : 2
Q.97 Arrange the following states in India in terms of sex-ratio according to 2011 census from
high to low.
A Puducherry
B. Tamil Nadu
C. Andhra Pradesh
D. Manipur
Choose the correct answer from the options given below:
I.LA_B.C&D
2.B,C,A&D
3.3)A,D.B&C
4.B,D.A&C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495337
Option 1 ID : 37674920793
Option 2 ID : 37674920794
Option 3 ID : 37674920795
Option 4 ID : 37674920796
Status : Answered
Chosen Option: 3
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Q.98 Major environmental problems are infact the manifestations of the degraded environments at

global level. These problems include-

A. Air and water pollution

B. Increase in the number of Wildlifes
C. Ozone layer depletion

D. Global Warming

E. Climate change

Choose the correct answer from the options given below:

1.A.C.D & E Only
2.A.B & C Only
3.B.C &D Only

4.B.C.D & E Only

GET IT ON
Google Play

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495327
Option 11D : 37674920753
Option 2 ID : 37674920754
Option 3 ID : 37674920755
Option 4 ID : 37674920756
Status : Answered
Chosen Option : 1
Q.99 : ; 4 : 5% :
Which school of thought first provided a philosophical and scientific foundation to the
subject of geography?
1. French
2. German
3. British
4. American
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495322
Option 11D : 37674920733
Option 2 ID : 37674920734
Option 3 ID : 37674920735
Option 4 ID : 37674920736
Status : Answered
Chosen Option : 2
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Q.100

Options 1. 1
2.2
3.3
4.4

Match the LIST-I with LIST-II

LIST-I LIST-II
Books Authors
A | The Pulse of Asia I. |Hartshorne
Influences of
B.| Geographical II. | Ratzel
Environment

C.|Nature of Geography II1. | Elssworth Huntington
D.| Anthropogeography IV.|E.C. Semple

Choose the correct answer from the options given below:

1. A-IV.B-III.C-I.D-II
2. A-TIILB-I,C-IV.D-II
3. A-IIL.B-IV.C-L.D-II

4. A-IVB-II.C-I.D-1II

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
3767495384
37674920981
37674920982
37674920983
37674920984
Answered

3
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Q.101 ] o
Which one of the following is an advantage of vector data format ?
1. Compact data structure
2. Difficult overlay operations
3. Complex data structure
4. Lack of compatibility with remote sensing data
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495398
Option 11D : 37674921037
Option 2 ID : 37674921038
Option 31D : 37674921039
Option 4 ID : 37674921040
Status : Answered
Chosen Option : 1
Q.102 : : i - : .
Arrange the following methods of delineating crop combination regions according to the
year it was proposed (Old-New)
A JT. Coppock's Method
B. Rafiullah's Method
C. Doi's Method
D. I.C. Weaver's Method
Choose the correct answer from the options given below:
1.D.B.C A
2.D,C,B,A
2.4, BB, €
4.D,B.A.C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495368
Option 11D : 37674920917
Option 2 ID : 37674920918
Option 31D : 37674920919
Option 4 ID : 37674920920
Status : Answered
Chosen Option : 1
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Q.103
Spatial Analysis is closely associated with-
1. Behaviouralism
2. Positivism
3. Areal Differentiation
4. Structuralism
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495375
Option 1 ID : 37674920945
Option 2 ID : 37674920946
Option 3 ID : 37674920947
Option 4 ID : 37674920948
Status : Answered
Chosen Option : 3
Q.104 Which of the following statements are true with respect to thunderstorms ?
A Thunderstorms are common features in the weather of high latitudes
B. The normal lapse rate should be greater than adiabatic rate of temperature change for
thunderstorms to occur
C. The greater the instability of warm and moist air, the greater the intensity & duration of
thunderstorms
D. There should be moist and stable air
Choose the correct answer from the options given below:
1. A& B Only
2.B & C Only
3.C & D Only
4. A& D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495392
Option 11D : 37674921013
Option 2 ID : 37674921014
Option 31D : 37674921015
Option 4 ID : 37674921016
Status : Answered
Chosen Option : 2
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.105 : . . : i . : 2
Q Which among the following enshrine the main principles of Indian foreign policy ?
A. Non-Alignment
B. Pro-Imperialism
C. Panchsheel
D. Disarmament
E. Pro-Racialism
Choose the correct answer from the options given below:
1. A.B & C Only
2.A.B,D & E Only
3.B.C & E Only
4. A, C &D Only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D
Option 4 ID
Status
Chosen Option :

McQ
3767495355
37674920865
37674920866

: 37674920867
: 37674920868
: Answered

2
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.106 B R . g . s
Q Weber in his theory of location of Industries assumes certain preconditions that was-
A. Some raw materials are fixed in location where others are ubiquitous
B. Market are not fixed at certain point
C. Transport costs are determined by weight of product and distance
D. Perfect competition does not exists but man acts rationally
E. Fundamentally, Weber imagined that least costs obtain highest profits
Choose the correct answer from the options given below:
1. A.B & D Only
2.C,D & E Only
3. A.C & E Only
4. A, C &D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495342
Option 11D : 37674920813
Option 2 ID : 37674920814
Option 3 ID : 37674920815
Option 4 ID : 37674920816
Status : Answered
Chosen Option : 3
Q.107 i
The term “ecology’ was first coined by whom?
1. Lindman
2. Haeckel
3. Forsberg
4. Odum
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495335
Option 11D : 37674920785
Option 2 ID : 37674920786
Option 3 ID : 37674920787
Option 4 ID : 37674920788
Status : Answered
Chosen Option : 2
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Q.108 : 2 . 55
Which one of the following south American nation is a part of OPEC.
1. Peru
2. Brazil
3. Chile
4. Venezuela
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495372
Option 11D : 37674920933
Option 2 ID : 37674920934
Option 3 ID : 37674920935
Option 4 ID : 37674920936
Status : Answered
Chosen Option : 4
Q.109 3 , ; g = .
The statement ‘geography is a bridge between the natural and social sciences’, can be
attributed to :
1. Gerhard Schott
2. Walter Christaller
3. Albrecht Penck
4. Karl Haushofer
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495385
Option 11D : 37674920985
Option 2 ID : 37674920986
Option 3 ID : 37674920987
Option 4 ID : 37674920988
Status : Answered
Chosen Option : 4
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.110 : 5 : :
Q Arrange the following theories in ascending order according to the year they were
propounded
A. Central place theory - Christaller
B. Concentric Zone - Burgess
C. Sector Theory - Hoyt
D. Multiple - Nuclei - Harris & Ullman
Choose the correct answer from the options given below:
1.D.,A B.C
2.8, BB
3B, C.AD
4.C,D,B. A
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

McQ
3767495391
37674921009
37674921010
37674921011
37674921012
Answered

3
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a1m E.L Ullman, Who identified certain basic factors affecting interaction between regions.
Consider the following statements-
A There must be a demand in one region that can be met from another region.
B. The area of demand must be able to pay for the supply so that a two way movements
develops.
C. The movements will only take place if each region is self sufficient.
D. Interaction between the regions will only take place if there are no intervening
opportunities.
E. Interaction between the regions will only take place if the product can be moved.
Choose the correct answer from the options given below:
1.A.B.C & D Ounly
2. A, C & E Only
3.B,C.D & E Only
4.A.B.D & E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495349
Option 11D : 37674920841
Option 2 ID : 37674920842
Option 3 ID : 37674920843
Option 4 ID : 37674920844
Status : Answered
Chosen Option : 4
Q.112 . ; L o
The boundaries that do not follow the spatial distribution of cultural groups or political
cultures are called
1. Subsequent Boundaries
2. Antecedent Boundaries
3. Superimposed Boundaries
4. Relict Boundaries
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495354
Option 11D : 37674920861
Option 2 ID : 37674920862
Option 31D : 37674920863
Option 4 ID : 37674920864
Status : Answered
Chosen Option : 2
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Q.13 Arrange the following major constituents of ocean water (over 100 parts per million) in
decreasing order of their percentages-
A. Chlorine
B. Sulfates
C. Sodium
D. Magnesium
Chose the correct answer from the options given below:
I.LA,B,C&D
22A.C,B&D
3.A.C.D&B
4. A B.D&C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495321
Option 11D : 37674920729
Option 2 ID : 37674920730
Option 3 ID : 37674920731
Option 4 ID : 37674920732
Status : Answered
Chosen Option : 3
Q.114 ; . o ; : -~
Which among the following organisation is the world's oldest regional organisation ?
1. Organisation of American States (OAS)
2. European free Trade Association (EFTA)
3. The Organisation of African Unity (OAU)
4. The Arab League
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495346
Option 1 ID : 37674920829
Option 2 ID : 37674920830
Option 3 1D : 37674920831
Option 4 ID : 37674920832
Status : Answered
Chosen Option : 2
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Q.18 Which of the following statements are true-
A. Correlation can only be linear in kind
B. Regression is certainly used to make estimates
C. Spearman's rank correlation coefficient can be used with nominal or ordinal data
D. In regression analysis only normally distributed data can be used
Choose the correct answer from the options given below:
1. A & B Only
2.B & C Only
3.C & D Only
4. A &D Only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767495403
37674921057
37674921058
37674921059
37674921060
Answered

2
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116 : : : ; : . :
Q Which of the following pairs are correct regarding tribes and state of their residence
A. Bhils - Madhya Pradesh and Gujarat
B. Tharus - Andhra Pradesh
C. Bhutia - Uttarakhand
D. Santhal - Jharkhand
E. Gaddis - Rajasthan
Choose the correct answer from the options given below:
1. A.B & D Only
2.A,C&D Only
3.C,B & E Only
4.A.D & E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495351
Option 1 ID : 37674920849
Option 2 ID : 37674920850
Option 3 ID : 37674920851
Option 4 ID : 37674920852
Status : Answered
Chosen Option : 1
Q.117 ) ) 1
Noctilucent clouds are found in which sphere of the atmosphere ?
1. Troposphere
2. Stratosphere
3. Mesosphere
4. Tonosphere
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495323
Option 11D : 37674920737
Option 2 ID : 37674920738
Option 3 ID : 37674920739
Option 4 ID : 37674920740
Status : Answered
Chosen Option: 3
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Q.118

1. Peninsular India
2. Northeast India
3. Northwest India

4. Coastal India
Options 1. 1
2.2
3.3
4.4

In which part of India, the Aryan speaking groups known as the Nordics are settled ?
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Question Type :

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767495365
37674920905
37674920906
37674920907
37674920908
Answered

2



https://applink.adda247.com/d/XhqWf9lSap

Ad

dal2417

GET IT ON
Google Play

Q.119
Match the LIST-I with LIST-II

LIST-I LIST-II
Koppen's Climatic type Climate
A |Af I. | Tropical steppe climate
s lcs I Tr.oplcal humid and dry
climate
C.|BSh III. | Humid tropical climate
i | &g v V\e.estern Europe type
climate

1. A-II.B-IV,C-I.D-III
2. A-TILB-IV.C-I.D-II
3. A-IILB-I,C-IV.D-II

4. A-IILB-IV.C-11.D-I

Options 1. 1
2.2
3.3
4.4

Choose the correct answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
3767495348
37674920837
37674920838
37674920839
37674920840
Answered

2
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Q120 With regard to the relief of Atlantic ocean. which of the following statements are correct.
A. The continental shelf of north Atlantic are broad and flat surfaced
B. The Southern part of mid-Atlantic Ridge is called 'Dolphin Rise'
C. The submarine ridge located between northern Scotland and Ireland is called wyville
Thompson Ridge
D. Beyond the Cape of Good Hope the mid-Atlantic ridge is called Atlantic-Antarctica
Ridge
E. To the north and south of mid-Atlantic Ridge, There are several transverse ridges
Choose the correct answer from the options given below:
l.A, C&D Only
2.B,C & D Ounly
3.A.C &E Only
4.C,D & E Only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767495332
37674920773
37674920774
37674920775
37674920776
Answered

3
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Q.121
Who is the Author of ‘“The Condition of Postmodernity” ?
1. David Harvey
2. Edward Soja
3. Doreen Massey
4. Y1 Fu Tuan
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495380
Option 1 ID : 37674920965
Option 2 ID : 37674920966
Option 31D : 37674920967
Option 4 ID : 37674920968
Status : Answered
Chosen Option : 2
Q.122 S . ]
Which is largest reservoir of fresh water in the world ?
1. Caspian Sea
2. Lake Tanganyika
3. Lake Baikal
4. Lake Konstanz
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495353
Option 1 ID : 37674920857
Option 2 ID : 37674920858
Option 31D : 37674920859
Option 4 ID : 37674920860
Status : Answered
Chosen Option : 1
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Q.123
Match the LIST-I with LIST-II

LIST-I LIST-II
Terms Related to
A. | Viticulture I. | Fruits
B.|Olericulture II. | Grapevine
C.| Api Culture III. | Vegetables
D.|Pomi Culture IV.|Bee

1. A-III,.B-II,C-1.D-IV
2. A-II.B-1.C-IV.D-III
3. A-IILB-1.C-II.D-IV

4. A-II.B-III.C-IV.D-I

Options 1. 1
2.2
3.3
4.4

Choose the correct answer from the options given below:

GET IT ON
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Question Type :
Question ID :
Option 11D :
Option2 D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
3767495390
37674921005
37674921006
37674921007
37674921008
Answered

2
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Q124 Which of the following forms of settlement develops along either side of rivers, roads and
canals ?
L. Circular
2. Square
3. Cross-Shaped
4. Linear
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495389
Option 11D : 37674921001
Option 2 ID : 37674921002
Option 31D : 37674921003
Option 4 ID : 37674921004
Status : Answered
Chosen Option : 4
Q.125 ] _ ) ]
Which one of the following map is known as dynamic Map ?
1. Flow Map
2. Dot Map
3. Isopleth
4. Choropleth
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495376
Option 1 ID : 37674920949
Option 2 ID : 37674920950
Option 3 ID : 37674920951
Option 4 ID : 37674920952
Status : Answered
Chosen Option : 1
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Q.126 . ; : :
1s an important species of Zooplankton community.
1. Euphausiid
2. Algae
3. Diatoms
4. Flagellate
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495339
Option 11D : 37674920801
Option 2 ID : 37674920802
Option 3 ID : 37674920803
Option 4 ID : 37674920804
Status : Answered
Chosen Option: 2
Q.127 . ; ; < - -
Which of the following pair of soil structure is suitable for cultivation ?
1. Granular & Blocky Structure
2. Columnar Structure & Platy Structure
3. Clayey & Columnar Structure
4. Platy & Clayey Structure
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495317
Option 11D : 37674920713
Option 2 ID : 37674920714
Option 31D : 37674920715
Option 4 ID : 37674920716
Status : Answered
Chosen Option: 3
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Q.128
Function Wizard in Excel enables you to
1. Draw maps
2. Construct Graphs
3. Carry out statistical operations
4. None of the above
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495402
Option 11D : 37674921053
Option 2 ID : 37674921054
Option 31D : 37674921055
Option 4 ID : 37674921056
Status : Answered
Chosen Option : 4
Q.129 ; 5 ol -
Who coined the term “network society’ in the context of globalisation ?
1. Ulrich Beck
2. Anthony Giddens
3. Manuel Castells
4. Carl O, Sauer
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495371
Option 11D : 37674920929
Option 2 ID : 37674920930
Option 3 ID : 37674920931
Option 4 ID : 37674920932
Status : Answered
Chosen Option : 2
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Q.130
An ogive 1s a method in which
1. Cumulative frequency is plotted
2. Simple frequency is measured
3. Cumulative frequency is measured
4. Simple frequency is plotted
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495382
Option 1 ID : 37674920973
Option 2 ID : 37674920974
Option 3 ID : 37674920975
Option 4 ID : 37674920976
Status : Answered
Chosen Option: 3
Q.131 ) _
Square root of the variance is
1. Mean deviation
2. Coefficient of mean deviation
3. Standard deviation
4. Coefficient of Standard deviation
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495393
Option 11D : 37674921017
Option 2 ID : 37674921018
Option 31D : 37674921019
Option 4 ID : 37674921020
Status : Answered
Chosen Option : 3
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Q132 The condition when lapse rate of air is greater than the dry adiabatic rate of cooling is
called?
1. Absolute stability
2. Absolute instability
3. Conditional instability
4. Neutral equilibrium
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767495329
37674920761
37674920762
37674920763
37674920764
Answered

2
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Q.133

Options 1. 1
2.2
3.3
4.4

Match the LIST-I with LIST-II

LIST-I LIST-II
Book Author
Critical Geopolitics :
A.|Politics of writing global | I. |John Agnew
space
B. Terrlltory, e & I1. | Gerard Toal
Soclety
Geopolitics :
C.|Revisioning World III. | Kevin R. Cox
politics
D. Geopolitics of the World v | Saul B. Cohen

system

1. A-ILB-III,C-II.D-IV

2. A-IV.B-II,C-IIL.D-I

3. A-II.B-I.C-IV.D-III

4. A-II.B-1I1.C-I.D-IV

Choose the correct answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
3767495377
37674920953
37674920954
37674920955
37674920956
Answered

4
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Q.134
Match the LIST-I with LIST-II

LIST-I LIST-II
Name Related to
A.|Baguio I. | Wind
B.|Smaze II. | Temperature
C.|Simoom III. | Storms
D.| Thermal Anomaly IV.|Fog

Choose the correct answer from the options given below:
1. A-IILB-LC-II.D-IV
2. A-IVB-II,C-III.D-I
3. A-IILB-IV.C-1.D-II

4. A-IV.B-II.C-I.D-IIT
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Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option2 D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

McQ
3767495334
37674920781
37674920782
37674920783
37674920784
Answered

3
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Q.135
Which one of the following Pair is correctly matched ?
1. Shipbuilding Industry - Lusaka
2. Aircraft Industry - Florence
3. Iron and steel Industry - Pittsburg
4. Automobile Industry - Los Angles
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495359
Option 1 ID : 37674920881
Option 2 ID : 37674920882
Option 31D : 37674920883
Option 4 ID : 37674920884
Status : Answered
Chosen Option : 3
Q.136 Arrange following coastal States/UTs in India in decreasing length of their coastline in Kms.
A. Andaman & Nicobar
B. Andhra Pradesh
C. Tamil Nadu
D. Gujarat
Choose the correct answer from the options given below:
LA D.B&C
22.DAB&C
3.D.B.C&A
4B DA &C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767495401
Option 1 ID : 37674921049
Option 2 ID : 37674921050
Option 3 ID : 37674921051
Option 4 ID : 37674921052
Status : Answered
Chosen Option : 1
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Q.137
in the Indian ocean is a “Miniature India’.

1. Mauritius
2. Seychelles
3. Maldives

4. Indonesia
Options 1. 1
2.2
3.3
4.4
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status

McQ
3767495399
37674921041
37674921042
37674921043
37674921044

: Answered
Chosen Option :

3
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Q.138

Arrange the following in decreasing order of their albedos.

A. Sand
B. Black Soil

C. Thick Cloud

D. Water

Choose the correct answer from the options given below:

1.4, B.C. D
2.B,D,C, A
3.C,A,D.B

4.C,A.B.D

Options 1. 1

2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

McQ
3767495343
37674920817
37674920818
37674920819
37674920820
Answered

3
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Q.139
Match the LIST-I with LIST-II

LIST-I LIST-II
Hydal Power Projects State
A.|Nagarjun Sagar I. |Kerala
B.| Shivasamudram II. [ Tamil Nadu
C.| Mettur III. | Karnataka
D.|Idduki IV. | Andhra Pradesh

1. A-IV.B-III,C-II.D-I
2. A-IILB-IV.C-II.D-I
3. A-LB-II.C-IIL.D-IV

4. A-IVB-III.C-I.D-IT

Options 1. 1
2.2
3.3
4.4

Choose the correct answer from the options given below:
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Question Type :
Question ID :
Option 1D :
Option2 D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
3767495395
37674921025
37674921026
37674921027
37674921028
Answered

1
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da247
Q.140

The Visweswaraya Iron and Steel Ltd. is located in which state of India?

1. Karnataka
2. West Bengal
3. Orissa

4. Tamil Nadu
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767495350
Option 11D : 37674920845
Option 2 ID : 37674920846
Option 3 ID : 37674920847
Option 4 ID : 37674920848

Status : Answered

Chosen Option : 1

Comprehension:

Increased rainfall over extended periods will mainly lead to river flooding, while short,
intense cloudbursts can cause pluvial floods. Due to changing climate. many parts of the
world are already facing more frequent severe and longer lasting droughts. Droughts often
have knock — on effects. for example on agriculture. forestry, water resources and
biodiversity. They reduce water levels in rivers and ground water, stunt tree and crop growth.
Further human. animal and plant health are also threatened by climate change. While climate
change may not introduce new health hazards, it will worsen and amplify existing one.

SubQuestion No : 141

Q10 In 2013 a mid day cloudburst in Uttarakhand Popularly known as 'Himalayan Tsunami'

caused devastating floods and landslide. The epicenter of this disaster was

1. Badrinath
2. Kedarnath
3. Rudraprayag

4. Joshimath

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767495405
Option 11D : 37674921061
Option 2 ID : 37674921062
Option 31D : 37674921063
Option 4 ID : 37674921064

Status : Answered

Chosen Option : 2
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Comprehension:

SubQuestion No : 142

Q142 What is the impact of climate change on Indian agriculture ?

1. Reduced crop yields and food production
2. Increase in wheat production due to rise in temperature

3. Certain crops are more viable in traditional regions

production

Options 1. 1
2.2
3.3
4.4

Increased rainfall over extended periods will mainly lead to river flooding. while short,
intense cloudbursts can cause pluvial floods. Due to changing climate, many parts of the
world are already facing more frequent severe and longer lasting droughts. Droughts often
have knock — on effects, for example on agriculture, forestry, water resources and
biodiversity. They reduce water levels in rivers and ground water, stunt tree and crop growth.
Further human, animal and plant health are also threatened by climate change. While climate
change may not introduce new health hazards, it will worsen and amplify existing one.

4. Pests and diseases can not thrive due to increase in temperature that helps in growing

GET IT ON
Google Play

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3767495406
37674921065
37674921066
37674921067
37674921068
Answered

1
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Comprehension:

Increased rainfall over extended periods will mainly lead to river flooding. while short,
intense cloudbursts can cause pluvial floods. Due to changing climate, many parts of the
world are already facing more frequent severe and longer lasting droughts. Droughts often
have knock — on effects, for example on agriculture, forestry, water resources and
biodiversity. They reduce water levels in rivers and ground water, stunt tree and crop growth.
Further human, animal and plant health are also threatened by climate change. While climate
change may not introduce new health hazards, it will worsen and amplify existing one.

SubQuestion No : 143

GET IT ON
Google Play

Q143 The recent increase in the frequency of the El Nino - Southern Oscillation (ENSQ) cycles
can be attributed to :
1. Deforestation
2. Ozone Depletion
3. Snow melting
4. Global warming
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767495408
37674921073
37674921074
37674921075
37674921076
Answered

3
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Comprehension:

SubQuestion No : 144
Q.144

1. Decrease in summer heat - related mortality and morbidity
2. Increase in winter cold - related mortality and morbidity

3. No health risks in relation to change in air quality and ozone

diseases

Options 1. 1
2.2
3.3
4.4

Increased rainfall over extended periods will mainly lead to river flooding, while short,
intense cloudbursts can cause pluvial floods. Due to changing climate, many parts of the
world are already facing more frequent severe and longer lasting droughts. Droughts often
have knock - on effects, for example on agriculture, forestry, water resources and
biodiversity. They reduce water levels in rivers and ground water, stunt tree and crop growth.
Further human, animal and plant health are also threatened by climate change. While climate
change may not introduce new health hazards, it will worsen and amplify existing one.

Which one among the following is the most significant health impact of climate change ?

4. Changes in the impact of diseases e.g. from vector - rodent - water or food borne

GET IT ON
Google Play

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

McQ
3767495407
37674921069
37674921070
37674921071
37674921072
Answered

4
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Comprehension:

Increased rainfall over extended periods will mainly lead to river flooding, while short,
intense cloudbursts can cause pluvial floods. Due to changing climate, many parts of the
world are already facing more frequent severe and longer lasting droughts. Droughts often
have knock - on effects, for example on agriculture, forestry, water resources and
biodiversity. They reduce water levels in rivers and ground water, stunt tree and crop growth.
Further human, animal and plant health are also threatened by climate change. While climate
change may not introduce new health hazards, it will worsen and amplify existing one.

SubQuestion No : 145

GET IT ON
Google Play

Q.145 e . it s
Which is the apex body for management of disasters in India
1. National Institute of Disaster Management
2. National Disaster Response Force
3. National Disaster Management Authority
4. National Disaster Alert Portal
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 11D
Option 21D :
Option 31D
Option 4 ID
Status
Chosen Option :

McQ

: 3767495409
: 37674921077

37674921078

: 37674921079
: 37674921080
: Answered

3
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Comprehension:

The ancient classical period saw significant progress in academic fields across different areas
of study. Ancient scholars like Plato, Aristotle, Thales. Anaximander, Ptolemy and
Eratosthenes had such a huge impact on western thought that it was really hard to get beyond
their ideas and theories for many centuries. The Journeys and discoveries made during this
time resulted in a better understanding of the previously unknown world. The Greeks made
significant contributions to the progress of human knowledge. They collected information
from various ancient civilizations and expanded on it through theories and observations.
Greek scholars thought about every possible topic. Their works really set the ground work
for newly all the fields we study today. Their impressive contributions really helped establish
geography as a solid discipline. especially in areas like mathematical, physical, historical and
regional geography. It’s hard to think about today’s scientific advancements without
considering the ground work laid by those ancient scholars.

SubQuestion No : 146

GET IT ON
Google Play

.146 : : : ; ; e .
Q Who improved the Aristotelian concepts of climatic zones by providing mathematical
boundaries ?
1. Pythagoras
2. Eratosthenes
3. Plato
4. Empedocles
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

McQ
3767495413
37674921089
37674921090
37674921091
37674921092
Answered

3
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Comprehension:

The ancient classical period saw significant progress in academic fields across different areas
of study. Ancient scholars like Plato, Aristotle, Thales. Anaximander, Ptolemy and
Eratosthenes had such a huge impact on western thought that it was really hard to get beyond
their ideas and theories for many centuries. The Journeys and discoveries made during this
time resulted in a better understanding of the previously unknown world. The Greeks made
significant contributions to the progress of human knowledge. They collected information
from various ancient civilizations and expanded on it through theories and observations.
Greek scholars thought about every possible topic. Their works really set the ground work
for newly all the fields we study today. Their impressive contributions really helped establish
geography as a solid discipline. especially in areas like mathematical, physical, historical and
regional geography. It’s hard to think about today’s scientific advancements without
considering the ground work laid by those ancient scholars.

SubQuestion No : 147

GET IT ON
Google Play

Q.147
Who propounded the concept of ‘Tera Incognita’ ?
1. Ptolemy
2. Strabo
3. Thales
4. Homes
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status :
Chosen Option :

McQ
3767495411

: 37674921081
: 37674921082
: 37674921083
137674921084

Answered
2
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Comprehension:

The ancient classical period saw significant progress in academic fields across different areas
of study. Ancient scholars like Plato, Aristotle, Thales. Anaximander, Ptolemy and
Eratosthenes had such a huge impact on western thought that it was really hard to get beyond
their ideas and theories for many centuries. The Journeys and discoveries made during this
time resulted in a better understanding of the previously unknown world. The Greeks made
significant contributions to the progress of human knowledge. They collected information
from various ancient civilizations and expanded on it through theories and observations.
Greek scholars thought about every possible topic. Their works really set the ground work
for newly all the fields we study today. Their impressive contributions really helped establish
geography as a solid discipline. especially in areas like mathematical, physical, historical and
regional geography. It’s hard to think about today’s scientific advancements without
considering the ground work laid by those ancient scholars.

SubQuestion No : 148

GET IT ON
Google Play

.148 : : 5
Q Who assumed that places near to the equator were uninhabitable and it was only the
temperate zone that formed the inhabited part of the world ?
1. Plato
2. Huntington
3. Ptolemy
4. Aristotle
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 41D :
Status :
Chosen Option :

McQ
3767495415
37674921097
37674921098
37674921099
37674921100
Answered

4
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Comprehension:

The ancient classical period saw significant progress in academic fields across different areas
of study. Ancient scholars like Plato, Aristotle, Thales. Anaximander, Ptolemy and
Eratosthenes had such a huge impact on western thought that it was really hard to get beyond
their ideas and theories for many centuries. The Journeys and discoveries made during this
time resulted in a better understanding of the previously unknown world. The Greeks made
significant contributions to the progress of human knowledge. They collected information
from various ancient civilizations and expanded on it through theories and observations.
Greek scholars thought about every possible topic. Their works really set the ground work
for newly all the fields we study today. Their impressive contributions really helped establish
geography as a solid discipline. especially in areas like mathematical, physical, historical and
regional geography. It’s hard to think about today’s scientific advancements without
considering the ground work laid by those ancient scholars.

SubQuestion No : 149

GET IT ON
Google Play

Q.149 Who is said to have been a disciple of Anaximander who also imbibed the cosmological
concerns of the Tonians ?
1. Pythagoras
2. Parmenides
3. Plato
4. Thales
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767495414
37674921093
37674921094
37674921095
37674921096
Answered

1
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Comprehension:

The ancient classical period saw significant progress in academic fields across different areas
of study. Ancient scholars like Plato, Aristotle, Thales. Anaximander, Ptolemy and
Eratosthenes had such a huge impact on western thought that it was really hard to get beyond
their ideas and theories for many centuries. The Journeys and discoveries made during this
time resulted in a better understanding of the previously unknown world. The Greeks made
significant contributions to the progress of human knowledge. They collected information
from various ancient civilizations and expanded on it through theories and observations.
Greek scholars thought about every possible topic. Their works really set the ground work
for newly all the fields we study today. Their impressive contributions really helped establish
geography as a solid discipline. especially in areas like mathematical, physical, historical and
regional geography. It’s hard to think about today’s scientific advancements without
considering the ground work laid by those ancient scholars.

SubQuestion No : 150

GET IT ON
Google Play

Q.150 A large part of Scholars think they know about ancient geography came from the work of ?
1. Plato
2. Anaximander
3. Strabo
4. Herodotus
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
3767495412
37674921085
37674921086
37674921087
37674921088
Answered

4
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